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LoadTree(treeDB: TDBDataSet).//L]1 [J [1 [J procedure
UpdateTree(curNode:TTreenode. nodeTxt:string. state:string).//[]
[0 O function GetNodeLevel(sFormat,sCode:string):integer. /U [
O O O 0O function GetNodeltem(sCode:string):integer.//L] 0 item
{ Public declarations } end. const CTreeCodeFormat=\122222\.
cTreeMaxLevel=6. CTreeRootTXT=\0 J [J I \. var tsgzlfrom:
Ttsgzlfrom. _err:integer. curUser:string[10]. mystate:string.
gNodeld:string. gNodelevel:integer. gNode: TtreeNode.
mynode:array[0..6] of TTreenode. i,Already,CurMode:integer.
currow:integer. iniFile:string. HasSub:String. level:Integer.
implementation uses bgNewunit. {$R *.DFM} procedure
TtsgzIFrom.LoadTree(treeDB: TDBDataSet).//(1 O J [0 var
curlD,nodeTxt:string. level,num:integer. begin /U O O O O
Screen.Cursor:=crHourGlass. tree.Enabled:=True. tree.ltems.Clear.
level:=1. num:=1. tree.items.clear. //0J O O O [
mynode[level]:=Tree.items.add(Tree. Topitem,cTreeRootTxt).
mynode[level].Imagelndex:=0. mynode[level].Selectedindex:=1. //
Jododoboboooodobooouoooooooooa
with TreeDb do begin try if not Active then open. first. while not Eof
do begin curlD:=trim(FieldByName(\tsglb\).AsString).
nodeTxt:=curlD \-\ trim(FieldByName(\tsglbn\).AsString).
level:=GetNodeLevel(cTreeCodeFormat,curlD). //00 O 0O O O O
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